Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - IV-EXAMINATION - WINTER 2015

Subject Code: 3342903 Date: 04/12/2015
Subject Name: Weaving Technology - 111
Time: 02:30 PM TO 5:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €2l SlEUBRL Ulctotl scllol U, 14
Write classification of jacquard.

B8 of cals0L cvll.

Draw neat sketch of different hooks used in jacquard.

BsL8 HL AUl [Au g5 oll e gl €1

Write the uses of repeating tie and border tie.

AULEToL a1 A LR 218 ol GUAN A,

Write the need of drop box motion.

Slu ot Hlalet ol w33laAlcd vl

State the objects of locking device on Eccle’s drop box loom.
gsc QLU ollet (M HL ALSL (Baltsy ol sl QU
State the advantages of automatic looms.

WANES M ol SlAEL wRUA.

Write the function of weft feeler.

Ase (3cR of st cvll.

Which two parts in a let-off motion are used as indicators for controlling the
throw of let-off pawl?

Az-3$ Hl2lol oll sl Al Wed oll Gullol Az-ulg WEA oll Yo

$2lA Sl HIS AlA B?
9.  Draw neat sketch of different types of drop pins used in warp stop motion.
¢c. ad R0 Qe 1 auRldl @y siu Uledt ofl e 2usld €13
10.  Write any four modifications in shuttle used on automatic looms.
0. AAHES M HL AURLAL AE HL AAEL 818 URL AR FH1R QU

© G N0 LK AW W N

o

Q.2 (@)  Explain working of Bartlett let-off motion with neat sketch. 07
Usl. R () ollidAe Ae-¥llg Mol of aslol e gld WA Al 09
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OR
Explain working of Ruti let-off motion with neat motion.

33l Ae-ullg Hlalot of dglol w9 wLglA WA UM A
Explain working of mechanical warp stop motion with neat sketch.
H3ollset ald 21U H2tet of aslol a9 wgld A AH1CA.

OR
Explain working of Electrical warp stop motion with neat sketch.

sAsglsA ald RUU H2let of aAslol 19 wglA A AH1CA.

Explain with neat sketch working of single lift single cylinder jacquard.

Rloct [As2 (3o1d RAlsR Bs1S of aslol ety vl WA UM,

OR

Explain with neat sketch working of double lift double cylinder jacquard.
sod ([@Ase solct RlsR B8 of aslol a2y wisld A& AHA.

Prepare a card chain for Eccle’s drop box loom for the following pattern:

White 8 picks, Red 2 picks, Blue 2 picks, Yellow 2 picks, Blue 2 picks, Red

2 picks. Total 18 picks/repeat
o{lAe(l Ueol 12 Bscat iU ollat Waletoll 518 Asulet ol

uye ¢ Uls, clc R s, oL 2 Uls, Llal 2 Uls, ¢l R s, cuc R

Uls. st 1¢ dls/3dle

OR
Explain the Eccle’s drop box motion with neat sketch.

85cL QU cllet Hlalel a9 AL WA wHesal.

Write short note on: London Tie and Norwich Tie.
25 olltl Avll: csetl ale wal ol 218,

OR
Give the causes and remedies of different cloth defects.

QR sclla (3¥s2 otl 512010 el 2|1 wuudl.
Compare cop changing auto looms with shuttle changing auto looms.
slu Aol el G A 22 AxloL el GH URwLAL.

Explain with neat sketch working of mechanical (Midget) weft feeler.

PA¥ellsct (MsAe) Ase (3R of aslot ey aisld WA AL

Explain with neat sketch working of Leveling device on drop box loom.
QU ol ¢ UR Adcllol Bausd of asll a1 gld A

Mol

*kkkkkhkkikhkkkkk

http://www.gujaratstudy.com

07
09
07
09

07
09
07
09

07

07

09

07
09

07
09

07
09
07
09

07
09

07
09


http://www.gujaratstudy.com

